Part 2 of linkage lessons SBS11QGR: Nedwidek 9/27/12: look at this after you try the Do Now.
Analysis of Morgan’s experiments on eye color in D. melanogaster:

Reciprocal crosses are inverses of one another.  They swap the phenotypes of the sexes at play in a mating (no pun intended), by definition.

When white eyed males are crossed with red eyed females, all F1’s have red eyes.  Conclude: recessive is white.  Crossing red eyed F1 males and heterozygous females produces 3:1 F2 ratio of red eyed to white eyed flies, respectively, but all white flies are male. Conclude that there is a difference between the sexes regarding the inheritance of the trait, but we still do not know what is going on.  

Morgan’s forward and reciprocal cross setup: look at the F2 (second gen), p 65 griff.

Situation 1, left side: All F1 flies get wt (red) allele from mom.  F1 females get white allele from dad.  All F1 females are heterozygous wild type (w+/w) and F1 males are hemizygous (look it up in notes) wt (w+).  The F2 cross of red males with heterozygous females yields the above stated ratio.

Situation 2, right side: this is the reciprocal of situation 1: data is consistent with sex linkage.  F1 in which all females are red but all males are white.  Every female inherited w+ from father’s x. Every male inherited w from mother.  Crossing white males and red heterozygous females yields a 1:1 red:white (respectively) ratio, equal females and males for each color.

Ask yourself what about this cross is RECIPROCAL?  What is a reciprocal?

This should help you through the analysis if you can try to follow it…
(
